8 7 6 5 4 3 2 1

BOM Table
ITEM NO. |PART NUMBER Rev. Description Material QTY.
1 SK-15-03 - 1
2 DR-03 =11 DIN RAIL KIT 1
2.1 DR-07R -.07 DIN RAIL 35mmX7.5mm PER DIN EN 60715 X 75mm STEEL 1
2.2 W-014 M4 Washer DIN 9021 - 4.3 SST SST 2
2.3 SCREWS-022 -.01 M3.85x1.8 SPAX X 9mm LG, PAN HEAD, PHILLIPS QSt36-3 2
3 DR-09 =11 DIN RAIL KIT 1
3.1 DR-10R - DIN RAIL 35mmX7.5mm PER DIN EN 60715 X 100mm STEEL 1
3.2 W-014 M4 Washer DIN 9021 - 4.3 SST SST 2
3.3 SCREWS-022 -.01 M3.85x1.8 SPAX X 9mm LG, PAN HEAD, PHILLIPS QSt36-3 2
!
‘ Wl
é—
‘_
e
§_
E_
E ‘Tllll
?
7
7\
SECTION A-A
UNLESS OTHERWISE SPECIFIED: PART NO.
DIMENSIONS ARE IN: INCHES[mm
?lC\)LERANCEAS: ANGULAR: iz' ! SK-15-DR
TWO PLACE DECIMAL:. +.010 MATER|AL
THF?,;EN%[A) %i,'iﬁﬁ:@ L :6.](())05 1305 CHESTER IND. PARKWAY AVON, OHIO 44011-1083 US.A.
PROPRIETARY AND CON’FI-D'ENTIAL PH#: 1-800-248-1233, 440-934-0444 FAX#: 440-934-0088
THE INFORMATION ConTaneD INTHs | FLAME RATING SIZE REV
DRAWING IS THE SOLE PROPERTY OF
POLYCASE. ANY REPRODUCTION IN PART NAME DATE B -
REV] DESCRIPTION [ZONE[ BY JAPPRD] _DATE | perssion OF FOLYCASE s PROMBIED. | DRAWN | DMF. | 12/9/2021 1
REVISIONS CP:RDNI\'-IIL;::SK—I?D;Y AEERPROMBIED CHECKED | C.C.B.  5/5/2022 SCALE: 1:1 @G SHEET 1 OF 1

8 7 6 5 4 3 2 1



	Sheet1
	Drawing View1
	Section View A-A


